MAY16'22 PM 1:29 RCVD



THE STATE OF NEW HAMPSHIRE DEPARTMENT OF TRANSPORTATION



Victoria F. Sheehan Commissioner William Cass, P.E. Assistant Commissioner

Bureau of Highway Maintenance (Well Section) February 22, 2022

His Excellency, Governor Christopher T. Sununu and the Honorable Council State House Concord, New Hampshire 03301

REQUESTED ACTION

Authorize the Department of Transportation to enter into a contract with Skillings & Sons, LLC of Amherst, NH (Vendor 161456), based on a sole bid, in the amount of \$44,000.00 for a 6-inch drilled well and pump on the property located at 63 Merrimack Road, Amherst, NH (Amherst Project No. 43518A), from the date of Governor and Council approval through November 30, 2022, unless extended by the Department in accordance with the Standard Specifications. 100% Highway funds.

Funding is available in State Fiscal Year 2022 as follows:

<u>FY 2022</u>

04-96-960515-3066 Salted Wells Account 400-500870 Highway Contract Payments \$44,000.00

EXPLANATION

Results of investigations and water analysis has been evaluated, and it has been determined that the existing water supply has been contaminated by highway chlorides. The Department is therefore obligated to obtain a new water supply for the owner. This proposal is in conformity with RSA 228:34.

This contract was advertised, and the bid was publicly opened on February 17, 2022. Skillings & Sons, LLC of Amherst, NH was the sole bidder at \$44,000.00 and the Department considers this bid to be reasonable.

The Contractor has been prequalified by this Department. The Contract has been approved by the Attorney General as to form and execution; and the Department has certified that the necessary funds are available. Copies of the fully executed contract are on file at the Secretary of State's Office and the Department of Administrative Services' Office, and subsequent to Governor and Council approval will be on file at the Department of Transportation.

Page 2

Sincerely, Zoton F. Sharton .

Victoria F. Sheehan Commissioner

VFS/pcj Attachment:

Department Estimate:\$44,000.00Contract Amount:\$44,000.00Under/Over Estimate:\$0.00

.



ABC Bid Data

AMHERST

43518A

NON-FEDERAL

PROJECT: STATE PROJECT NUMBER: FED. PROJECT NUMBER:	AMHERST 43518A NON-FEDERAL	Awarded To:	SKILLINGS & SONS LLC 9 COLUMBIA DRIVE AMHERST, NH 03031			
DATE BIDS OPEN:	February 17, 2022,					
SCOPE OF WORK:	Replace salted well.	Amount:	\$44,000.00	Certified by:		
COMPLETION DATE:	November 30, 2022	Award Date:			Director of Project Development	
LOCATION:	Hillsborough					
		Summary of Bidders				
Contractor					Bid Amount	Rank
SKILLINGS & SONS L	LC		**=		\$44,000.00	A
9 COLUMBIA DRIV	/E, AMHERST NH 03031		-			

.

•

۲ ر



.

ABC Bid Data

AMHERST

43518A

_

NON-FEDERAL

				[THE STREET	1 COLU	S & SONS LLC MELA DRIVE 17, NH 03031		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

`

1

Items

ς.

			Totals:		\$44,000.00		\$44,000.00		
			Alt. Totals:						
			Totals:		\$44,000.00	•	\$44,000.00		
1008.18	ALTERATIONS AND ADDITIONS AS NEEDED - PUMPING TEST	\$	600.00	\$1,00	\$600.00	\$1.00	\$600.00		
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	3,000.00	\$1,00	\$3,000.00	\$1.00	\$3,000.00		
662.52075	SUBMERSIBLE PUMP (3/4 HP) AND ACCESSORIES	ÉA	1.00	\$4,000.00	\$4,000.00	\$3,200.00	\$3,200,00		
662.42 1	1" PE FLEXIBLE TUBING	Ŀ	100.00	\$3.50	\$350,00	\$1.00	\$100,00		
662.41	TRENCH AND PIPE	LF	100.00	\$10,00	\$1,000.00	\$10,00	\$1,000.00		
662.28 1	DECOMMISSION DRILLED WELL	LF	500.00	\$14.20	\$7,100.00	\$12,00	\$6,000.00		
662.244	4" WELL CASING (INCLUDING JASWELL SEALS & GROUT)	LF	400.00	\$15.50	\$6,200.00	\$10.00	\$4,000.00		
662.166	PILOT HOLE FOR 8" WELL (INCLUDES 6" CASING)	ĿF	300,00	\$34,00	\$10,200.00	\$52,00	\$15,600.00		1
662.1626	6" DRILLED WELL	Ŀ	700.00	\$16.50	\$11,550.00	\$15.00	\$10,500.00	,	

.

PS&E Comparison

~



AMHERST

43518A

NON-FEDERAL

		r		A-Bido	ler	PS&	E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
	·							
662.1626	6" DRILLED WELL	LF	700.00	\$15.00	\$10,500.00	\$16.50	\$11,550.00	(\$1,050.00)
662.166	PILOT HOLE FOR 6" WELL (INCLUDES 6" CASING)	LF	300.00	\$52.00	\$15,600.00	\$34.00	\$10,200.00	\$5,400.00
662.244	4" WELL CASING (INCLUDING JASWELL SEALS & GROUT)	LF	400.00	\$10.00	\$4,000.00	\$15.50	\$6,200.00	(\$2,200.00)
662.281	DECOMMISSION DRILLED WELL	LF	500.00	\$12.00	\$6,000.00	\$14.20	\$7,100.00	(\$1,100.00)
662.41	TRENCH AND PIPE	LF	100.00	\$10.00	\$1,000.00	\$10.00	\$1,000.00	\$0.00
662.421	1" PE FLEXIBLE TUBING	LF	100.00	\$1.00	\$100.00	\$3.50	\$350.00	(\$250.00)
662.52075	SUBMERSIBLE PUMP (3/4 HP) AND ACCESSORIES	EA	1.00	\$3,200.00	\$3,200.00	\$4,000.00	\$4,000.00	(\$800.00)
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	3,000.00	\$1.00	\$3,000.00	\$1.00	\$3,000.00	\$0.00
1008.18	ALTERATIONS AND ADDITIONS AS NEEDED - PUMPING TEST	\$	600.00	\$1.00	\$600.00	\$1.00	\$600.00	\$0.00

.

۱.

Total:

.

\$44,000.00

\$44,000.00 \$0.00

.

State of New Hampshire Department of State

CERTIFICATE

I, David M. Scanlan, Secretary of State of the State of New Hampshire, do hereby certify that SKILLINGS & SONS, LLC is a New Hampshire Limited Liability Company registered to transact business in New Hampshire on October 28, 1970. I further certify that all fees and documents required by the Secretary of State's office have been received and is in good standing as far as this office is concerned.

Business ID: 94006 Certificate Number: 0005752206



IN TESTIMONY WHEREOF,

I hereto set my hand and cause to be affixed the Scal of the State of New Hampshire, this 7th day of April A.D. 2022.

David M. Scanlan Secretary of State

Corporate Resolution

I, Roger Skillings, hereby certify that I am duly elected President of Skillings and Sons, LLC. I hereby certify the following is a true copy of a vote taken at a meeting of the Board of Directors/members, duly called and held on March 24, 2022 at which a quorum of the Directors/members were present and voting.

VOTED: That Vincent A. DiPiero, CEO is duly authorized to enter into contracts or agreements on behalf of Skillings and Sons, LLC with the State of New Hampshire and any of its agencies or departments and further is authorized to execute any documents which may in his/her judgment be desirable or necessary to effect the purpose of this vote.

I hereby certify that said vote has not been amended or repealed and remains in full force and effect as of the date of the contract to which this certificate is attached. I further certify that it is understood that the State of New Hampshire will rely on this certificate as evidence that the person(s) listed above currently occupy the position(s) indicated and that they have full authority to bind the corporation. To the extent that there are any limits on the authority of any listed individual to bind the corporation in contracts with the State of New Hampshire, all such limitations are expressly stated herein.

DATED: 3/21/22

ATTEST:

Certificate of Authority #1

\frown
ACORD

.

CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY)

TUE CEDTUE									/6/2022		
THIS CERTIFICATE IS ISSUED AS A I CERTIFICATE DOES NOT AFFIRMAT BELOW. THIS CERTIFICATE OF INSI REPRESENTATIVE OF PRODUCES	JRAN	CED	DEGATIVELY AMEND, EX	TEND O							
IMPORTANT: If the certificate holder	is an /		TIONAL INSURED the pr) must be an	domed If SI	IPROCATION IS MANYED				
certificate holder in lieu of such endo	Y. CHIL		DUCIRS MAY FRAUITS IN AF	ndorsem	ient. A stater	ment on this	certificate does not confe	er righti	to the		
PRODUCER				CON	ACT Susan	Gilman					
THE ROWLEY AGENCY INC.				PHON (A/C	IE (603) 224-2562	FAX IAIC No	1: (603) 22	4-8012		
45 Constitution Avenue						nerowleya	Jency.com				
P.O. Box 511					NAIC #						
	3302	-051	1	INSUF	10677						
INSURED							<u> </u>	28665			
Skillings & Sons, LLC				INSUR	ERC:						
9 Columbia Drive				INSUR	ER D :						
Amherst NH 0				INSURER E :							
	3031				INSURER F :						
	RIFI	CATE	NUMBER: 22/23 Cer	t \$5M	UB		REVISION NUMBER:				
THIS IS TO CERTIFY THAT THE POLICIES O INDICATED. NOTWITHSTANDING ANY REC CERTIFICATE MAY BE ISSUED OR MAY PE EXCLUSIONS AND CONDITIONS OF SUCH	RTAIN	THE	INSURANCE AFEORDED BY		IRACT OR OT	HER DOCUME					
TYPE OF INSURANCE		SUBR	POLICY NUMBER		POLICY EFF	POLICY EXP	Limi				
A X COMMERCIAL GENERAL LIABILITY			EPP0563553		1/1/2022	1/1/2023		5	1,000,000		
CLAIMS-MADE X OCCUR							DAMAGE TO RENTED PREMISES (Ea occurrence)	5	500,000		
	.]					ļ	MED EXP (Any one person)	5	10,000		
ļ]	.]	1				·	PERSONAL & ADV INJURY	5	1,000,000		
GENL AGGREGATE LIMIT APPLIES PER:		1			'		GENERAL AGGREGATE	5	2,000,000		
X POLICY X PRO- LOC							PRODUCTS - COMPIOP AGG	5	2,000,000		
X OTHER: No XCU Exclusion	_							5			
			EBA0563553		1/1/2022	1/1/2023	COMBINED SINGLE LIMIT (Es accident)	\$	1,000,000		
X ANY AUTO ALL OWNED SCHEDULED						'	BODILY INJURY (Per person)	\$			
AUTOS AUTOS							BODILY INJURY (Per accident)	\$			
X HIRED AUTOS X AUTOS							PROPERTY DAMAGE (Per accident)	\$	_		
A X UMBRELLA LIAB X OCCUP								\$			
			EPP0563553		1/1/2022	1/1/2023	EACH OCCURRENCE	5	5,000,000		
CLOWS-MADE	{ }				ļ	4	AGGREGATE	\$	5,000,000		
WORKERS COMPENSATION		+	EXCA121481 64					\$			
AND EMPLOYERS' LIABILITY Y / N ANY PROPRIETOR/PARTNER/EXECUTIVE			EWC0471481-04		1/1/2022	1/1/2023	X PER OTH- STATUTE ER				
OFFICER/MEMBER EXCLUDED?	N/A		3A States: NH MA RI VT M Excluded Officer:	≖		, -	E.L. EACH ACCIDENT	<u>s</u>	1,000,000		
If yes, describe under DESCRIPTION OF OPERATIONS below	1		Norman Skillings	1		r i i i i i i i i i i i i i i i i i i i	E.L. DISEASE - EA EMPLOYEE	<u>s </u>	1,000,000		
	+	T I				T	E.L. DISEASE - POLICY LIMIT	<u>s</u>	1,000,000		
Leased/Rented Equipment			EPP0563533		1/1/2022		\$200,000 Limit				
		1	EPP0363553		1/1/2022	1/1/2023	\$250,000 Limit				
SCRIPTION OF OPERATIONS/LOCATIONS/VEHICLES oject #43518A, Amherst, NH. S sureds under the general liabi med insured.	State	of i	NH and its officia	ls or		nd wolvers	Gers are additional ritten contract wit	.h			
RTIFICATE HOLDER			```	CANCE	LLATION						
State of New Hampshire Department of Transporta PO Box 483	tion			THE E)	D ANY OF THE PIRATION DAT RDANCE WITH	IE THEREOF, N	RIBED POLICIES BE CANCE IOTICE WILL BE DELIVERED ROVISIONS.	ELLED BI D IN	EFORE		
Concord, NH 03302-0483					ED REPRESENTA	_	1	.			
			S	usan (Gilman/SJG		D CORPORATION. All				
								່ວງອີກເອ	, vəci 70U.		

.

.

The ACORD name and logo are registered marks of ACORD

-